EisERILTTEBEMBRDS MRS
(EREFEXD)

BB REFA—AX
EEE =ZB2LrPa-7-X

B3 dLAAR—/I—FAUA

SFAGL MREADSY—X

A dEHR—SS—FAVA 5 R ! 2 3 4 B

B ERFR—AX

¢ Broa—r_x @ EFEE [ 1 [ 2 [ 3 [ 4 P

@
D MREADY—X
ERBD 1 2 3 4 i
R —/—F 1A
WMREADY—X ERED : 3 3 T 5
RAFE L TH/NER/NER

@ 4A68 ()4 AT95F

@ 4A68 (L) 4FAT1E

® 4868 (L) Fk185

@ 4A68 ()4 %36

14/15 atR—r = 1oA FIUR— I R | HYATT R MEBSIAVX|YMLART—X [manveszs—z| & | Bk | B% | 319 | B | 88 | &4 =
EHR—R—FA2A 5:0: 3|13:0; 3| 80O: 0| 80O 1| 66O 3 5 5 0 0 10 40 10 30
RILAR—IR 3@ 5 13O 6/15: O 9[100 A 10| 2. @14 5 2 2 1 5 43 44 A1

A

7

O |HYAITURR 3@ 13| 6. @i 13 2@ 19 6 @18 4 0 4 0 0 17 63| A 46

v

7
MNARSAAUX 0@ 8 9@ 15 0@ 6| 4@ 18 4 0 4 0 0 13 47| A 34
YrILARF7—X 1:@i 8/10:A:10[{19:O! 2| 6:Oi 0 16.0O: 9 5 3 1 1 7 52 29 23
WARYLIRE—X 3@: 6/140: 2|/18:0O: 6/18O: 4| 9@ 16 5 3 2 0 6 62 34 28

HBET WRLKRS—X| H—SF LR | Es—H—Z | B TR X |mamor—x| e | M | B | 319 | Ba | 84 | &4 =
BELYFR4—X 11:0: 3[11:O! 4 2.@i15| 99O 6 4 3 1 0 6 33 28 5

373—’)')'}LX 3@ 11 11:0: 0| 3@: 4| 4@ 12 4 1 3 0 2 21 27| A6

=]

;*JJZ:W—ﬁ—X 4@ 11| 0@ 11 1@:20 2:@i13 4 0 4 0 0 7 55| A 48
HRFER—aX 15:0: 2| 40: 3/200: 1 9:0: 0 4 4 0 0 8 48 6 42
HHEHI7M5—X 6@ 9/120: 4/13:0: 2| 0/@ 9 4 2 2 0 4 31 24 7

BT BESa=7—X| TSI OS5 T [rnevezoz | mRHR— x| tons—oz| B | Bk | 8% | 219 | Ba | 85 | &4 =
2roa=-7—-X 6:0: 11200 0/140O: 4| 80O 1 4 4 0 0 8 48 6 42

S w5 1@ 6 140 4 7@ 11| 4@ 11 4 1 3 0 2| 26| 32| A6

=]

; IFNEI7I=vIR 0@ 20 4 @14 1@i23 1:@i11 4 0 4 0 0 6 68| A 62
HEAR—CX 4. @:14/11: 0 7|123:0O: 1 60 5 4 3 1 0 6 44 27 17
tURSILIS—D R 1@ 8/11:O: 4[11iO! 1| 5@ 6 4 2 2 0 4 28 19 9

HERERT FHY AL R | ko Bov—s2 | minerraa—x| FILT)—o X | heREs—| ke sr—x| HE | MM | 8% | 319 | BA | 848 | £& =
wHYAUX 3@ 11 5@ 7/ 8@:14 7@:10| 1. @:13 5 0 5 0 0 29 55| A 26
KrEIY—YR 11:0i 8 80O 5/13:0: 1120 1| 2.@: 9 5 4 1 0 8 46 24 22

D

5

o |[EhEI714—X 7.0 5| 5@ 8 4@ 7110 5 4@ 9 5 2 3 0 4 31 34 A3

v

9
FL<)—>X 140 8/ 1:@i13] 70 4 1:@ 18| 3 @:10 5 2 3 0 4 26 53| A 27
INEREIR)— 100 7/ 1@ 12| 5@ 111|180 1 3@ 8 5 2 3 0 4 37| 39 A2
WREADY—X 13001 1] 9i0: 2/ 9O 4[{100O: 3| 80O 3 5 5 0 0 10 49 13 36




